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1. Solve following linear equations for x.

(i) x− 4 = 10

(ii) 2x− 4 = 10

(iii) 5x− 6 = 3x− 8

(iv) 2(3x− 7) + 4(3x+ 2) = 6(5x+ 9) + 3

(v)
√
2x−

√
3 =

√
5

2. Solve following equations for x.

(i)
√
x− 8 = 3

(ii)
√
x− 10− 4 = 0

(iii)
√
x+ 1− 3x = 1

(iv) 3
√
x− 8 = 3

(v) 5
√
x− 10− 4 = 0

3. Solve following quadradic equations for x.

(i) x2 − 5x+ 3 = 0

(ii) −x2 + 6x− 8 = 3x+ 7

(iii) 2x2 − x− 1 = 0

(iv)
1

2
x2 − 16x = 5

(v)
√
3x2 +

√
5x = 12

4. Solve following equations for x.

(i)
1

(x− 3)
+

1

(x+ 3)
=

10

(x2 − 9)

1



(ii)
2x− 1

x+ 1
=

3

(x+ 2)
− 6x

(x2 − 4)

5. Solve following equations for x.

(i) ex = 72

(ii) ex + 5 = 60

(iii) 4e(2 ∗ x) = 5

(iv) e2x − 3ex + 2 = 0

(v) 100x
2−6∗x+1 + 5 = 10

6. Solve following equations for x.

(i) ln x = 3

(ii) 2 ln 3x = 4

(iii) ln(x2 − 6x− 16) = 5

7. Solve the following systems of equations:

(i)

2x1 + 2x2 + x3 + 3x4 = 10

3x1 + 5x2 + 2x3x4 = 30

x1 + 2x2 + x3x4 = 12

(ii)

2x1 + 10x2 + 4x3 + 9x4 = 1

x1 + 6x2 + 5x3 + 3x4 = 1

3x1 + 16x2 + 9x3 + 11x4 = −1

x1 + 5x2 + 2x3 + 5x4 = 2

x2 + 3x3 = 4
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